




















δ δ ×

δ δ ×

δ

δ



δ

θ

δ





µ µ

µ µ



≅



δδδδ



α =α+α+α

α

−α+α+α

α

−





 −α+α+α+ααα

α α

α

∑=

α







 −α+α+α= α



ε α

α γ

ε

α∈ ∈+∈+∈

γ∈ ( )∈−∈−∈

γ∈ ( )∈−∈

∈∈ ∈

∈∈ ∈

∈∈ ∈



∑ ∑∑ 















∈+∈+∈= εε∈γγγααα

( ) ( )∈+∈+∈+∈++

∈

















−++∈


















+−+=

εεε
ε

εγγαα

γγγααγγγαα∑

( ) ( ) ( )∈+∈+∈+∈+∈+∈+∈+∈+∈= ααααααααα

( ) ( )εεεεγγγαα ∈+∈+∈+∈+∈+∈=

( ) ( ) ( )∈+∈+∈+∈∈+∈∈+∈∈+∈+∈+∈=



δδδδ  

∑
≥

∈= ββ
δ

β

( ) ( ) ( )( )
αα

α

−=∈

−+
+

+
−

−
−=∈

∈=

−=

+=

γα

γα

∈=

=

−=

γ

γα

α

( )ββαα+ββαα+ββααλ+





 −βα+βα+βαλ=

δ



( )

−=λ

−
−=λ

λα



√

√

√

√









×

λ × λ ×





λ λ

λ λ









































δδ
=













µ

±

δδδδ



δ

δδδδ δδδδ ××××



δ

δδδδ δδδδ ××××



×











µ









λ

λλλ +=



λ

δl l

δ

δ



λ



λ

δl lδ

δδδδ







λ



λ

δll

δ

δδδδ





θθθθ





λ

λ



δl lδ

δδδδ










